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FINAL KEY

PAPER - Il SUBJECT: M&SCI | MEDIUM: TELUGU  TET-211-EM/TM BKL CODE: A
Q.NO. | A.NO. [ Q.NO. | A.NO. | Q.NO. A.NO. Q.NO. A.NO. Q.NO. A.NO.
1 4 31 1 61 1 91 3 121 2
2 1 32 2 62 4 92 Sﬁ::le 122 4
3 1 33 4 63 3 93 2 123 3
4 3 34 2 64 1 94 2 124 2
5 4 35 1 65 2 95 4 125 4
6 3 36 2 66 3 96 3 126 3
7 1 37 1 67 lor2 97 1 127 2
8 3 38 3 68 4 98 Sﬁ::le 128 4
9 2 39 2 69 2 99 2 129 1
10 2 40 3 70 4 100 1 130 1
11 2 41 2 71 2 101 3 131 3
12 3 42 4 72 1 102 1 132 4
13 4 43 3 73 3 103 4 133 3
14 3 44 1 74 3 104 2 134 2
15 3 45 3 75 1 105 3 135 4
16 4 46 2 76 1 106 4 136 2
17 1 47 3 77 4 107 St:?e 137 4
18 4 48 2 78 lor2 108 2 138 3
19 2 49 2 79 1 109 1 139 2
20 4 50 4 80 3 110 3 140 3
21 3 51 2 81 4 111 2 141 4
22 1 52 1 82 1 112 4 142 4
23 1 53 4 83 3 113 3 143 2
24 4 54 3 84 4 114 1 144 4
25 1 55 1 85 2 115 2 145 2
26 4 56 3 86 4 116 4 146 2
27 4 57 2 87 4 117 3 147 2
28 1 58 2 88 2 118 3 148 3
29 3 59 4 89 1 119 1 149 1
30 2 60 1 20 3 120 2 150 4
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FINAL KEY

PAPER-Il  SUBJECT: M&SCI | MEDIUM: TELUGU  TET-211-EM/TM | BKL CODE: B
ano. | ano. [ano.| ano. | ano. | ano. | ano. | ano. | ano. | Ano.
1 2 | =3 2 61 2 01 3 121 4
2 1 32 3 62 1 92 4 122 3
3 4 33 1 63 4 93 s’:::'e 123 1
4 2 | 3a 3 64 2 94 4 124 1
5 a | 35 2 65 3 95 3 125 3
6 1 36 3 66 4 96 1 126 1
7 2 | 37 2 67 | 2o0r3 97 2 127 4
8 a | 38 4 68 1 o8 4 128 3
9 1 | 39 3 69 3 99 3 129 2
10 a | a0 4 70 1 100 1 130 2
11 1 | & 2 71 4 101 s’:::'e 131 4
12 a | a2 4 72 3 102 2 132 4
13 2 | a3 3 73 2 103 2 133 1
14 3 | 44 1 74 3 104 3 134 3
15 3 | a5 4 75 4 105 3 135 3
16 a | a6 3 76 1 106 2 136 1
17 3 | a7 3 77 4 107 4 137 1
18 1 | a8 3 78 1 108 2 138 1
19 1 | a9 4 79 1 109 1 139 1
20 3 | so0 2 80 3 110 4 140 3
21 2 | s 1 81 2 111 1 141 4
22 a | s2 1 82 | 20r3 | 112 4 142 1
23 3 | s3 3 83 4 113 3 143 4
24 1 | sa 4 84 2 114 s‘:::'e 144 3
25 a | ss5 3 85 2 115 1 145 3
26 1 | s6 4 86 1 116 3 146 3
27 2 | 57 2 87 1 117 4 147 4
28 2 | s8 2 88 2 118 4 148 3
29 2 | s9 3 89 2 119 3 149 1
30 1 | 60 1 90 4 120 2 150 2
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PAPER-Il  SUBJECT: M&SCI | MEDIUM: TELUGU  TET-211-EM/TM | BKL CODE: C
ano. | ano. [ano.| ano. | ano. | ano. | ano. | ano. | ano. | Ano.
1 3 | 3 3 61 3 01 4 121 4
2 1 32 4 62 2 92 2 122 2
3 2 | 33 2 63 1 03 1 123 4
4 3 | 34 4 64 3 94 1 124 2
5 2 35 3 65 4 95 s’:::'e 125 1
6 1 36 4 66 1 96 4 126 4
7 2 | 37 3 67 | 3ora | 97 s’:::'e 127 1
8 a | 38 1 68 2 o8 4 128 2
9 2 | 39 4 69 4 99 1 129 1
10 3 | 40 1 70 2 100 2 130 4
11 3 | a 2 71 3 101 2 131 2
12 3 | a2 1 72 1 102 1 132 2
13 3 | a3 3 73 4 103 3 133 2
14 1 | a4 1 74 3 104 3 134 3
15 a | as 4 75 1 105 1 135 3
16 2 | a6 2 76 2 106 4 136 1
17 2 | a7 4 77 3 107 4 137 4
18 3 | a8 3 78 1 108 3 138 2
19 1 | a9 2 79 3 109 3 139 4
20 2 | so0 4 80 3 110 s‘:::'e 140 2
21 1 | s1 1 81 2 111 2 141 4
22 a | s2 4 82 | 3ora | 112 4 142 1
23 1 | s3 4 83 2 113 1 143 2
24 a | sa 4 84 2 114 3 144 1
25 a | ss5 2 85 4 115 1 145 4
26 1 | s6 3 86 3 116 1 146 1
27 2 | 57 1 87 1 117 4 147 4
28 3 | s8 3 88 1 118 2 148 4
29 2 | s9 1 89 2 119 3 149 3
30 1 | 60 4 90 4 120 4 150 2
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PAPER-Il  SUBJECT: M&SCI | MEDIUM: TELUGU  TET-211-EM/TM | BKL CODE: D
ano. | ano. [ano.| ano. | ano. | ano. | ano. | ano. | ano. | Ano.
1 2 | =3 4 61 4 01 2 121 3
2 a | 32 1 62 3 92 1 122 1
3 a | 33 3 63 2 93 3 123 2
4 3 | 34 1 64 4 94 1 124 1
5 1 | 35 4 65 1 95 2 125 3
6 a | 36 1 66 2 96 s‘:::'e 126 3
7 2 | 37 4 67 | 1lora | 97 4 127 1
8 3 | 38 2 68 3 o8 3 128 3
9 3 | 39 1 69 1 99 2 129 3
10 2 | a0 2 70 3 100 1 130 2
11 3 | a 2 71 4 101 4 131 1
12 1 | a2 1 72 1 102 2 132 2
13 3 | a3 3 73 2 103 1 133 3
14 a | aa 2 74 2 104 s‘:::'e 134 1
15 3 | as 4 75 3 105 3 135 1
16 a | a6 4 76 3 106 2 136 3
17 a | a7 3 77 1 107 1 137 2
18 a | a8 3 78 4 108 3 138 2
19 2 | a9 1 79 1 109 4 139 3
20 3 | so0 1 80 2 110 2 140 4
21 2 | s 1 81 3 111 4 141 4
22 3 | s2 1 82 3 112 1 142 3
23 2 53 2 83 4 113 s’:::'e 143 2
24 a | sa 4 84 4 114 4 144 1
25 2 | s5 1 85 2 115 2 145 2
26 3 | s6 3 8 | 1ora | 116 2 146 1
27 2 | 57 2 87 2 117 3 147 1
28 1 | s8 1 88 4 118 1 148 1
29 1 | s9 2 89 4 119 1 149 3
30 1 | 60 4 90 3 120 4 150 4
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Part - I : Child Development and Pedagogy

An infant holds a toy initially using 3.
his palm, as he grows holds it ’s’«.:"ltl’l
fingers. The development principle
that explains this ....

(1) Development is predictable.

(2) Development is interrelated.
(3) Development proceeds In
cephalo caudal direction.

(4) Development proceeds from
general to specific.
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EBEFNOD BB, 2o 570 TP
55,8 Bestoourin. AL TR0 W,
(1) o=ora, @Prodstouniy).
I
(2)  Sowde BORY BomoiiT ecwol.
(3) Sovoc G0 SPTRRSODOTT SS9 RoH008
(4) IR LS,EULR B% ook ‘:@E 5‘5;‘1‘3‘/
C SHoB0b
One of the following 1s not a | 4
characteristic of emotional
development during adolescence.
(1) Generalised excitement.
(2) Emotional instability.
(3) Fear and anxiety.
(4) Confusion and uncertanty
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A student studies hard to retain thi
‘star’, awarded for her bes
he was

performance 1n class as S -

told bv the teacher that she wil

loose the star if her performance

decreases. The reinforcement that

is making the student to study hard

IS ...

(1) Negative reinforcement

(2) Positive reinforcement

(3) Primary reinforcement

(4) Punishment
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A class VIII student helped her
classmate in learning English. The
transfer of learning that has taken

place 1s ....

(1) Positive

(2) Negative

(3) No transfer of learning
occured.

(4) Bilateral
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5. (.)111:.%_10:)!‘ thf [ (}l‘luwmg Is suggested by
. ¥ r1 ¥ "3 ~ % i

NCI-20056, with regard to learning .

(1) Lﬂfﬂl‘_l“{ll'lg should take place
within the class room only:.

(2)  Students should be passive to
acquire the knowledge from
the teacher

(3) L?afn}ﬂg should be teacher
directive.

(4) Lgarning should be in the
wider social context.
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6. The physical factor that effects the
development of an individual.

(1) Temperature

(2) Food

(3) Hormones

(4) Light
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Heterogeneity of the class 1_*001]"{
<hall be viewed by the teacher as

-5 —

(1) Source for learning.

(2) Hurdle for students’
adjustment.

(3) Need for segregation of
students for class room
transaction.

(4) Burden for teacher.
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A student of class V frequently
exhibits temper tantrum. This
indicates that the child has problem
relating to this domain.

(1) Cognitive

(2) Conative

(3) Affective

(4) Psychomotor
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A student who has not studied
properly, to cover his faults, bla_mes
the teacher, saying that the teacher

has not taught properly, ... 18 an
example of this defense
mechanism.

(1) Projection

(2) Rationalisation

(3) Compensation

(4) Identification
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Students of class V could not
understand the lesson as it was not
organised sequentially.

The factor of learning that

effected the understanding of

students 1s ....

(1) Personal.

(2) Environmental.

(3) Personal and Environmental.

(4) Neither personal nor
environmental.

FEe BoR ﬁs"mcéﬁ g 50003 Fako WY O

BUKG DoRgtiged @Yo 505%8s  Dayrtd

(2)  Lo%oo.x
&
C Aarss e ) aa VARYATTON X
(3) ~eSNO 0053y HORTT =
{4) Ldne s wobain BONTEE T
TET-211-EM/TM

11.

12.

Booklet Code

Piaget theory, a child

According to ) '
- to inanimate objects

attributing life

-
(1) Object permanence

(2) Animism

(3) Organisation

(4) Reversibility

NUITE Po@Tris DIrole S, "" 50D)
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Identify the correct statement irom
the following :

(1) Teaching is an interactive
process, learning 1s a passive
process.

(2) Teaching 1s a passive process
learning 1s an interactive

process.
(3) Both teaching and learning

are interactive processes.

(4) Both teaching and learning

are passive processes.
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13. If all the high schools are provided
with sophisticated educational
technology ....

(1) Teachers can be replaced |
- totally.

(2) One teacher can handle al]
classes. i

(3) Provision of ‘one teacher for
one class’ is sufficient.

(4) Teachers can not be replaced.
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14. A boy in your class always looks
confused and indecisive. As a
teacher you would ....

(1) take decision for him.
(2) tell him to approach elders.
(3) provide him guidance to take
appropriate decision.
(4) ask him to follow the
instructions of teachers.
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As per the ‘social constructivistic
theory of learning’, the role of the
teacher in the class roomisa/an ...

(1) Demonstrator
(2) Instructor

(3) Facilitator

(4) Spectator
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The ‘plateau’ in the learning curve
indicates ....

(1) Learning is completed.

(2) Learning began.

(3) Increase speed in learning.
(4) Temporary arrest in learning.
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As pér Havighurst ‘Develquental
tasks’ are ....

(1)  Social expectations

(2)  Medical norms

(3) Learning interests

(4) Educational mile stones
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9 18. One of the following with regard to | 20. As per the Right of Children to I;rcetEj
' learning is more appropriate : and Compu_lsory Educgtlon t
' * 9009. the child has the right to ge
(1) emphasis on process and , : & his sk de
memorization. free education, 1 1
(2) emphasis on outcome and job bgtween
placement. (1) 3 - 12 years
(3) emphasis on success In |
inati - ars
examinations. (2) 4-13ye
(4) emphasis on process and (3) 5 - 14 years
outcome. ~
.- (4) 6 - 14 years
3cOTIO” GRS Secwehow Jepla o
(1) Hic¥o  HoBcsas  So8Rdsoess RTE-2009 wwe ®57¢e & ”‘3“-"‘3:’9 =
FN. B | ) Lows 08 A0l s OO T, Sele.
!?L—,mes o w2l . ~
(2) 9PBHw  Bobwx  aSi¥enss (1) 3-12 Bens,oees
| o Do .
) :H é ) . (2) 4-13 Ho88,07e0
(3) 35”% NS {gﬁ‘;"fbsﬁ.‘hl';u&u. |
A4)  ©dBo¥s D0 pIEINOIH (3) 5-14 Houg,ore
PRGBS | (4) 6-14 BoksyTres
1 19. The stage of cognitive development | |
enumerated by Bruner which 1S 194 g jearn about the agricultural
characterized oy child's practices a child meets farmers, the
representation of things and events R Ty
in terms of non-verbal activities, .
represents ... (1) Self
(1) Iconic representation stage. @ Homie
tive representation |
= SEtI;iz 5 (3) Community
ge.
(3) Information representation (4) Technology
stage. . ) ] R
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22. To conduct a teaching learning
activity, the teacher has to follow
this sequence ....

(a) 1identification of suitable
strategies and methods.

(b) assessment of learners’
capacities.

(c) evaluation of learning and
replanning.

(d) 1dentification of learning
experiences to be provided.
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(1) b,d,a,c

(2) C: d} a! b

(3) a,b,cd

( d,a, b, c

23. ‘Over learning’ leads to ....

(1) Increase in proficiency.

(2) Decrease in learning.

(3) Decrease in memory.

(4) Causes disinterest.
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24. A Headmaster takes decisions all

by himself, this type of leadership ...
(1) Laizzer faire

(2) Democratic

(3) Permissive

(4) Autocratic

ST i BYote T JYAFC

25. A teacher who is not well, wants to

take rest, but also thought of
attending the school as
examinations are approaching. The
conflict that the teacher 1is
undergoing .....

(1) Approach - Approach
(2) Avoidance - Approach
(3) Avoidance - Avoidance

(4) Approach - Avoidance
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26. One of the following should not be

done by the teacher while teaching
a lesson in the classroom.

(1) Using previous knowledge
and experiences.

(2)  Use of appropriate method
and technology.

(3)  Continuation of motivation
continuously.

(4) Teaching by giving more
Importance to intelligents.
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27. A teacher has developed a five point

scale to know the students’
preferences towards  digital
teaching. The tool developed by the
teacher 1s

'''''

(1) Observation sheet
(2) Questionnaire

(3) Check list

(4) Rating scale
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Children remember the colours of
rainbow as ‘VIBGYOR’ using this

technique of memory.

(1) Mnemonics

(2) Paired associated learning.
(3) Rehearsal

(4) Clustering
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All other abilities being normal,

based on IQ level, the children who
do not fall under ‘Children With
Special Needs’ (CWSN) among the
following.

(1) Children with IQ 0 - 20

(2)  Children with IQ 30 - 50

(3)  Children with IQ 90 - 110

(4) Children with IQ 130 and above.
308 F3S5° oy ST 3 POt &od,
el sFElom ‘5’:@5; LT MO DB
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(37 Sered 90-110 oG e bees

(4) Eered 130 w20 Mo bow

According to Kohlberg, a child
shows respect for authority and
follows the rules durin

(1) Pre conventional [evel
(2) Conventional level

(3) Post conventional level
(4) Inter conventional level
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Part II : Telugy (Language - 1)
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Part - I11 : English (Language - I1)

(61-65) Read the passage carefully.

Child psychology is certainly not a
strong point with most Indian schools.
Why else would it inflict a double trauma
on a student faring badly in the pre-
boards by banning her from taking the
exams 7 Often with total results as
evidenced by reports of student suicides
in the run-up to the board. Now the
Central Board of Secondary Education
(CBSE) has stepped in and put the
brakes on. This is good news for parents
and students, many of whom have had to
live with the threat of the performance -
linked department. While the schools’
logic is that in order to attract talented
students, they need to maintain their
performance records at high levels, the
assumption that a student faring poorly
the pre-boards will replicate this at the
boards 18 faulty. Chances are that the
student will be gpurred to work doubly
hard. On the other hand, the threat of
the department will almost certainly
impact her/his performance adversely. Of
course, linking pre-boards to the boards
is only one of the problems with our
school system.

Now answer the following questions
choosing the right options.

61. Choose the word which 1s most

opposite in meaning of the word
‘spur’ as used in the passage.

(1)
(2)
(3)
(4)

depress
enlarge
activate

sustain

TET-211-EM/TM
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62.

63.

64.

695.

Choose the word Which 1S similar 1n
meaning to the word ‘l'eplicate’ as
used in the passage.

(1) enhance
(2) achieve
(3) mnerform
(4) repeat

Which is the good news for parents,
according to the passage ?

(1) Schools will take the
responsibility of preparing
students {or the board.
Schools will enforce discipline
to ensure higher attendances
of students.

No students can be barred
from the hoards without prior
clearance from the CBSE.

(4) Schools will provide study
3 facilities to the poor students.

Schools wanted to enforce

performance-linked department in
order to ....

(2)

(1) attract better quality
- students.
(2) get regular grant-in-aid from
the education department.
(3) provide better study material
to the students. . ’
(4) make students aware—that

they would aspire for their all
round development. -

According to the passage parents
had to live with the threat of ....

(1) falling grades of their wards.

(2) linking performance of their
wards in pre-boards to the
boards. ,

(3) not getting their wards
admitted in quality schools.

(4) schools creating traumatic

situations for their wards.
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(66-70)  The following passage has five
numbered bhlanks. For each blank,
four alternatives are given. Identify
the correct option for each hlank.

Men who are always _(66) ahout
their poverty, complaining ol their
difficulties, whining (67) their troubles,
and thinking that _(68) in this world is
mean and poor, _(69) never get any
happiness out of life or achieve

(70) success.

66. (1) muttering
(2) mumbling

(3) grumbling
(4Y" groaning

67. (1) over
(2) about
(3) with
4) out

68. }1) a lot

(2) lots
(3) over a lot

(4) their lot

69. (1) would
(2) will
(:3:) should
(4Y) may

70. (1) some
(2) a
(3)f the
(4) . any

TET-211-EM/TM

71.

2.

[14]

73.

Bﬂﬂkl'ﬂt Code

[dentify the complex sentence from

the following.
We read hooks pbut thf:y watch

T.V.

(1)

search for it 1n the

(2) It you get it.

HUhrJ”]: yrju Wl“

You go there or they will not

give you.

She is not only good in
English but also good at

Maths.

He woke up to hear the sound of
bells ....... in the distance.

Choose the right option to fill
in the blank.

(1) clanging
(2)  banging
(3) buzzing

(4) whistling

Identify the phrase containing
Noun + Noun.

(1) strong light

(2 shed light

(3) a llght source
y) a ray of light

www.eenadupratibha.net



74. (a) Amrita 1s getting married | 79.
next month.
(b) Amrita will get married next
month.
Read the statements (¢) and () and
choose the right option.
(1) only (a) is correct.
(2) only (b) 1s correct.
(3) Both (@) and (b) are correct.
(4) Both fa) and (b) are incorrect. 30
75. When Padma stood first 1n class,
Rekha, out of jealousy, .....
(1) ate her heart out.
(2) lost her heart.
(3) poured out her heart.
(4) praised from the hottom of
her heart.
76. I expect to get a prize.

The underlined part of the
sentence 1s called a Noun phrase
because ... | !
L7 {t _1:: It}}e ohject of the ver A

expect .

(2) it contains a subject and a
predicate.

(3) it qualifies the noun.

(4) it is independent.

77. Identify the correct passive

sentence.

(1) A nice house is had by them.

(2) 1 am not fitted by my shoes.

{’SJ/ A Greek goddess is resembled
by Sriya.

(47~ The furniture was broken up

for firewood.

78. They ought to be more sensible,
......... ? 82.
Choose the correct question
tag to complete the sentence.
(1) oughtn’t they
(2) shouldn’t they
(3) musn’t they
(4) can’t they
TET-211-EM/TM [15]
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Choose the appropriste reply to an
invitation.

(1) Sorry. I'm afraid I am not free.

(9, 1 was terribly sorry to hear
that.

(3) That’s very kind of you.

(4) Thanks, I'd love some.

Thic man on TV said that

dinosaurs -......

Choose the later part of the
centence which is grammatically
correct.

(1, %éhad, = heen around

250 million years.
17" were about 250 million years.

A5 were around for 250 million

for

years.
(4) have been for 250 million
years.
One speaks | a strange dialect /
() ‘b)
where / I came from
(c) (d)

The sentence 1s divided into
four parts labelled as (a), (b), (¢) and
(). Identify the part of the
sentence which has an error.

(1) (a)
(2) (b)
(3) (c)
Ur  (d)

John hates women. Hels a ....

(1) misogynist
(2)  polygot
(3) prodigy
(4) mercenary
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83. Read the parts ol a sentences | 86.
(a), (b), (¢), (d) and (&), which are
jumbled.

(a) cashed on their internal rifts.

(b) entering these countries for
commercial gains.

(c) and ultimately became their
rulers.

(d) the British slowly stepped into

the internal politics of those "7
countries. *

(¢) and over a period of time,
gained tota)l control.

Now identify the right order.

(1) (d), (b), (c), (a), (e)

(2)  (a), (b), (d), (e}, (¢)

(3) (b), (d), (a), (e). (c)

(4) (D), (d), (¢c), (a). le)

88.
84. ldentify the ‘one word substitute’
from the following.

(1) ride

(2) participation

(3) successful

(4) omnipresent

85. In the activity called ‘Scale

drawings’ used to develop speaking 89.

skills of students, ....

(1) One student passes the

| information verbally to the
other from a graph / picture
with a few gaps and the other

- tries to fill the gaps.

(2) One student produces a
diagram from the other
students’ description on a | 90.
given squared paper. -

(3) The students guess what it is,
when the teacher dJraws
something indistinctly on the
blackboard. -

(4) The students draw the pictyre
based on the clues giyen by
the teacher.

TET-211-EM/TM. [16]
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teaching 1s .....

L l ‘
Remedls but re-teaching.

(1) nothing .
ngething where aChlEVEmEnt

(2) is expected to be very low ‘

(3) need not be highly specificapg
need based.

(4) more like a crash course.

One of the features of REﬂECtiVﬂ
teaching 1s .....

(1) Predicting

(2) Clarifying

(3) Summarizing

(4) Gathering new evidences.

Listening to public speeches

belongs to .....
(1) Focussed listening

(2) Gist listening
(3) Appreciative listening
(4) Casual listening

Another term used for graphic

organizers in English Language
Teaching is

(1)
(2)
(3)
(4)

.......

Information transfer

Graphic Reading
Almanacs

‘Discourses.

One of the following helps us to get

a bird’s eye vie f k.
Identify it, Pt e

(1) Jacket
(2)  Front page
(3) Blurb

(4) The preface
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PART IV(a) : Mathematics - Content

91. If log,,2=0.301, then the number

of digits in the expansion of 52017
1855

log ;2 =0.301 eosd 52017 Gy,

=

wc_qurné'e N GOSY DO
f,a-'.?'

HEJJL%T””1408

£2) 1409
1410

(3)
(4) 1411

1
then J_;-F— —
Jx

& .
Vx

g2. If x=

-----

2
2+J§’

2
X = — , woNS Jx +
2+ 3

%

(1) 21./5 A A
(3 243
(3) 2

(4) -2

The number of pairs of natural.
numbers, whose GCD 1s 5 ax}d LCM

is 105, 1s ....

KRop. = 5 08050 5.0, = 100 ™
DT DOFPSOINTHO O

) 1

(2) 2

3) 3

(4) 4

93.

ET-211-EM/TM
ANOT

94.

95.

96.
|

[17]

The sum of all three digit numbers
15‘w,‘frl'1i(_1’l“l are dledEd by 5‘, leave the

same remainder 4,1s ....

5 3§ epad 3ao0 4 93) Sardole dogge

[SAMIUIGY

(1) 1,98,540
(2) 99,270
(3) 88,963
(4) 1,77,926

Let A and B be any two sets. Then
which of the following is false.

A, B oo D50 Dot 5205083 (308 T3S’ D8

S0 ?

(1) A-(AnB)=A-B
(2) (A-B)U(ANB)=A
(3) (A-B)n(B-A)=4¢
(4) (A-B)UA=B

Let A be the set of all points on a
circle with centre C and radius
r > 0 and B be the set of all points
on the straight line passing through
C. Then n(ANnB) = Q —

G Hopsisa mbass 1 > 0 g Ko
5150 208 Dotsoye ©208 A ok C oo
PR B8 Hob Doto)e HB B eocxd
n(An B) =

W 0
(2) 1
3) 2
¢ S
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If. sin® +8in“0 =1,

lllll

i 4 _
then 1 + cos"" (0+cos () =

sin0 +sin%0 =1,

oo 1 + CDBZ () + CUHd 0 -

(1) 2
(2) 1
(3) O
(4)

In a APQR, right angled at Q,
PR + QR = 25 and PQ = 5.

The value of tan P 1s ....

APQR, & Q ¢ wowkimilas Suts.

PR + QR = 25 %o8ui» PQ = 5 weasd P

(18]

i

99. 'T'he angle of e:le . |
L} ' ' r , ‘:
4 building from the foot of o v ;
N reivi- f
i 307 and the angle of elevation Jr
the top of the tower from the foot o
the building is 607 1 thu}'t/{wn; ”;'
' - : he 0
60 meters high, then the bt igh
the building in metres, 18 ...
- # . ".l""'.-"j " ,:";:-H‘;""q.
L-rj Fli:bc 3*'::-.1#:14 b o "ﬂ-ﬂ. 4‘ Hir:;:
AN TP () Lolidas GpeiandEisss wis
AL " Jd s, P s Y 4
FF%G“{’:% ety ‘-Eﬁr"duf;.}ﬁ FJ{J,. I u{/dw.f s =],
- {H.Ilﬂ‘ ‘

FRT R W "N . - i
u..-.iﬂ:- 5( J i'-r.'ﬁi-.'.-":;‘f E:ru.;!.}’ﬁ, ﬂn-..ru.f.: D.r.r.r..-fjl; :‘z:f
(OO ...

.I"-!
(]5,. 50
4
50
(3) 5043
H()
(4
V3
100- L[:L f.}, r = { ]1- 2' :ﬂ', 4}. “hf_,hr_: f:[‘JuatirJn
x* +bx+c¢ =0 has real roots, then
the number of ordered pairs (b, ¢
18
. 3 'S 'y
b, ce {1,2,3, 4}, x2 4+bx+c=0
e B3 T e mﬂ‘mﬁ, rb, c) L
(1) 7
(2) &
(3) 9
(4) 10

Booklet Code
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101. If S, is the sum of the first ‘%’ terms

of the arithmetic progression a;, a,,

S m ;,2 Q
a-;, ..... Ell’ld T = —_ then m
n I a,
A1, Qg A3y -onee Y LOSBEE B0,

S

1

‘f’ nore VBIXN S»’e S80Sy — = —

I

50N i
aﬂ
| 2m +1
(12 on +1
_ 2m -1
(2) n+1
2m -1
(3) o2n—1
+1
7 1 -
on—-1

102. If the linear equations
3x+by+a=0&nd

ax — 2y

3x + by + a = 0 00002

ax-2y+12=0 e OPAL ﬁba#ﬁﬁ‘w 23

. 2 2 = T L
s Br0n ,a° + b

(1) 37
(2) 35
(3) 27
(4) 25

TET-21 1-EM/TM

b

+ 12 = 0 represent the same
_ g
straight line, then a? + b“= ....oe

[19]
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103. If three coins are tossed at a time,

then the probability of getting
atleast twoO heads, Is ....

£ B
S LEPO BRI, EVdo Tokw

ARy wPETO
aﬂ‘”w.:%w <Y E’JGW'“:J?SE"
vy o
(1) 3
°
(2) 2
Ve
(3) 2
1
(4) 5

104. If the mean of first ‘n’ odd natural

)
.ont B
numbers is —, thenn = ...
121

2058 ‘N’ D wire Sopge esoSKEAD B

12221 50T, L = .-
(1) 11
(2) 121
(3) 12

(4) 144

www.eenadupratibha.net



105.

106.

www.eenadupratibha.net

If AP and AQ are tangents drawn
from an external point A to a circle
with centre C and radius & ¢cm and
AC = 17 em, then AP + AQ = ...

(1) 15 cm.
(2) 2bcm.
(3) 30 cm.
(4) 36 cm.
C Bone 8 oo, mrargas fle inaeds

LFTRGIoloW) A ocd AT RGP AF AQ,

AC =17 o.bo. wud AP + AQ = ...

(1) 15 Do.aw.
(2) 25 ..
(3) 30 e.an0.
(4) 36 o.ow.
If the points A(1, -2), B(3, 1) and

C(=5, 2) are vertices of a triangle,
then the point of intersection of the
<ide BC and the bisector of the angle

/BACis .....

A(1, -2), B(3, 1) 5385 C(-5, 2)
Dotowyew w8 (OFP poreasd, BC fozn
5o00g0 LfBAC SPen B pold Boe poded

5
B

o |

4
(2%(*"3
(3) [ ’

Deliow)

——

ol m

|

1__4_J
3* 3

1 j_)
(4) [“3'* 9

2

107.

108.

[20]
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If the slope of the Htrui;{h{f, I:.I-“: .
joining the points (- cos ), s1n 1)
and (cos 0, = sin 0) 18

, ! .Y
C(_]Hd () + (:uh;”' () Hm""il + gin“{)

(0*—”“"?%} then cos0 = ...

(— cos 0, sin () wlosx (cos 0, —sin )

ﬂ '-'F [l 1
(-"* = 4f) <Ghsit— ) wosse, cos = ..
-.a'..aLw. - :

2

‘¢
@ B
2
3 -
3)
(4) 1

If AD, BE are medians of AABC an_d
F is a point on AC such that DF 1s
parallel to BE, then CF : AC = ...

AABC & AD, BE eo Tt A Tonws
w08 BE % Sarestioore DF &t

AC 508 Dotody F ewad, CF : AC = ...

(1) 1:2
(2) 14
(3) 2:3
(4) 3:4
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109. If the areas of three adjacent faces of

110.

111.
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a cuboid are A, A,, A,
volumeis ....

then its

P }:1"" "y T owa P T Tt - Tel) -"',"";-- .. o A
e -2 l....llﬂ'q.«.-ﬂ.-':' l..l..th-..ri. "--"h-rv-f:‘.'_-_ Snhrr s e g-} -.Iéu-.:i 13

A, Ay, ©unB, B oNR0RPME

(1)  JAAA,
(2)  AA,A,
(3)  (A,A,A,)
(4) (ALALA,)

A hemisphere and a cone have equal
bases. If their heights are also equal,

then the ratio of their curved surfaces
will be .....

s B Mo : -

RNV PIFRICS SCND efnToas ST
FONNPL WBICS HIFRD, T LSGe TS
(X} 231
(2) 3:1
(3) J2:1
(4) 3:1

The curved surface area of a right
circular cylinder of base radius 'r
is obtained by multiplying its
volume by ....

GITRGTEND T e B0 ST, Q30
TR Tt B PoR0RIrT)

TorAouoemd DN

(1) 2r
2
(2) -
r
(3) 2 r?
(4) =
r2
TET-211-EM/TM
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The diagonal of arectangle is 17 cm
and its area is 120 ¢m*. The
perimeter of the rectangle is ...

(1) 23cm
(2) 32cm
(3) 30cm
(4) 46cm
¥ A soobpsos &), s 17 e.ls.

-

""r"'ﬁ.-:: o ‘E'_H_' -="r_='f".ﬁ“r LAY 120 e _-‘.'_. _""' s i = “‘:—.
onhe v b E-"I"' - s e et s e el
—

B wosiind WospsTel
(1) 23 %0c.~2
(2) ¥ 32400
(3) 30=c.
(4) 40 2o.e0

In a school, the ratio of the number
of boys to girls is 7 : 4. If there are
140 girls, the total number of

students in the school is ....
.Y Semedt resl, wrise S 74

~TFOOT Bo3
(1) 245
(2) 285
(3) 385
(4) 345

A sum of Rs. 12,500 amounts to
Rs. 15,500 in 4 years at the rate of
simple interest. The rate of interest
18 i

PO $aE 4 BesyTo TON3

&». 12,500 eses 62.15,500 g

©oNB, ﬁéﬁm _

(1) 6%
(2) 5%
(3) 4%
(4) 39
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Methodology

“The pupil categorises polyngmria]s
on the basis of their dlegrec: . The
academic standard achieved by the

student falls under

iiii

(1) Problem solving
(2) Reasoning proof
(3) Communication

(4) Connection

L st s 7w
“:JEESQ ﬂuﬁ‘Jﬂ'CﬂE‘i@J Vi

w®
585805000, gods wlTY AT 1)
i

TR (DT 23600

(1)  B%org &S

(2) moSereo - LTS
(3) T.‘Jﬁﬁ-ﬂﬁczc

(4) edobogEae

The approach adopted in the

curriculum of mathematics at

secondary level in Telangana state

ISF
(1) Topical
(2) Concentric
- (3) Spir’ﬂl
(4) Concentric and Spira].

seomrs OgeS’ VLGB Faw  KedS
e (EFVEE GEOSDOUS Bee

(1) 7%
“(2) 308
(3) ©ow
(4) DxEol 0din B0y

TET.211-EM/TM

117. Learning by

118.

- [22]

doing and learning by

living are the main principles of ...

method
ethod

FHeuristic
[Laboratory m
Project method

(1)
(2)
(3)
(4)

3 _E .

ST o0 TOP oSy
l""Eu_.r' [ e~ 7

Ol id.'): :-.ff:iﬂ LT P e T TN é

Analytical method
) a0y ST G,

(1)
(2)
(3) (@SEoy 365

(4)

The evaluation tool that assesses
students, academic performance
(1) Aptitude test

(2) Intelligence test

(3) Achievement test

(4) Diagnostic test

LRe LERGSURST e tobery Su

mﬁgﬂﬁﬁ :ﬁ'bg;mg
(1)  Sove Fwey, o
(2) (b omw

(3)
(4)

13-: q:-:l :J :E‘

e T .
O '--"Cf‘t;["'-ﬂ r..r’.."'::l‘
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119. The main aim of recapitulation in

Herbartian model of lesson
planning is ....

(1) to know the extent of

objectives of the lesson
achieved.

(2) to present the concept.

(3) to assess the pre-requisite
knowledge.

(4) to supervise the learner.

: ~ o Y .= '"‘--;‘J"'HJ
JJ-—-E: Ud‘ bﬂ-ﬁ.-f i Gl e o

Booklet Code

120. The teaching programme 1n which

student participates actively for self
learning at his own pace 1s .....

(1) Projects

(2) Programmed learning
(3) Laboratory work

(4) Micro teaching

(2) SPE(EROGHRND Gggso |
(8) HIovNT e B

(4) vr%, 855

TET-211-EM/TM

[23]
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Science - Content

Booklet Code

il o incisors ...
‘ | : with sharp
, ‘hoose the correct pair of short | 124. Animal

121. C {HJHL- 2 4) Lion
Lterm Crop. |
(1) Jowar-Green grami. (2) Rat
(2) Green gram-lﬁlack gram. 3) Cat

r Nack oram-Red gram.
(3) Black ;_{rmr’xﬁllr il & Dok B
{4J Rﬂd ﬁ{rﬂm- J ' . T (lnclsors) he o= O o)
ey T E Bowo D00 (2 Tooe o, Slauiv 200=
(1) & - 2ed (1) o0
(2) Wl - Wi (2) e
[B): Seama - Sa8 (3) 5%
(4) =52

122. Identify the odd disease based on
e group mi‘ EAUMBIVIBRRES 125. Find the incorrect statement.
(1) j?yphﬂld (1) Abiotic and biotic factors arv&;
(2) Cholera st structural components 0
(3) Tuberculosis ecosystem.
() Ryined U... . ey B =0 (9) Detritus food chain starts
;_T‘;l:.r e filele m:.L S ¥ 0 (ST G T f]"f:jm lltter
:«‘;QT—- f"-f"g:_.r:ﬁ-n (3) ‘Aphids’ GCCupy nzncil tl"UPth
(B oo level” in the food chain.
(2) 3% (4) Herbivores  occupy leSt
(3) EooTl trophic level in a food chain.
(4) R MBI LS TeQotod

123. These ar¢ called microscopicC (1) £ Soddoo 6% ToTes, wdes S

3 policeman- CI0E), JTEPEE GoPoesel
(1) E Pyddyrocytes (2) Zom @Sty Rleoy B8
(2) Blood platelets Souide  (Bef) v
(3) N eutfﬂi:;ls (FEoLEOH TS,
(4) Mﬂnﬂcy e s TR < 1 N I 13‘:-.::’
B s ) Misdon & oo,
(1) S ogErre : PY—
P, “n BV a™ - =g AT TR ESD ol
(2) 6; wﬂjw (4) -_'IJ"GQ; N SPedd o "o ()
4 MaxIand® dowran.

(3) :‘JJ'S‘J-I; [ i o,

(4) =rTpoes

TET.211-EM/TM [24]
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The cell-organelle which helps in
manufacturing of lipids ....

(1) Golgi complex

(2) Chloroplast

(3) Smooth endoplasmic
Reticulum.

(4) Mitochondrion

Lobo boirbd TFEt Serolic

() ok wolly Eiwes
(4) wrodanh
The stage in mitosis in which

chromosomes are aligned at the
equatorial plane of the cell.

(1) Prophase
(2) Metaphase
(3) Anaphase
(4) Telophase
Soaddnndt SRrEiow ImiogE Ry

(2) g &%
(3) ves &%
(4) woBy; &%
‘Edema’ is related with ....

(1) Digestive system
(2) Respiratory system

(3) Nervous system

(4) Lymphatic system

DEHT Bt BHnd HSowoFo SOAND.

(1) &g 53

(2) &g 503

(B) & v

(4) Shapn oo
TET-211/EM-TM

Booklet Code A |

129. Water reaches top of the tall trees

due to the phenomenon ..

(1) Transpiration

(2)  Respiration

(3) Photosynthesis

(4) Guttation

23 vamadt SO0 wal el © o
(1) »35;s¢

(3)  2uesmsg SO0 IUL
130. Match the animals with

correct answer.
[. Urea
IT. Uric acid

[IT. Ammonia

(B) Frog
(C) Snake

(1) I-B, II-C, III-A

2) I-A, 1I-C, II-B

(3) I1-B, II-A, III-C

(4) I-A, II-B, III-C

Lo TS INEE soTed wdol, B
ST ."’a@:i:d )

[. cordasr  (A)  ©oellba wd

II1. QiJJ“EJET‘%:/(B] 58

I eargasr (G s
&~ 1-B, 1I-C, III-A
(2) I-A, 11-C. 1II-B
(3) I-B, 1I-A, 1II-C
(4) I-A, 1I-B, HI-C

[25]
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their
excretory products and choose the

(A) Freshwater fish
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131. This is a modified stem.

(1) Carrot
(2) Radish
(3) Potato

(4) Sweet potato

132. -Smobth muscles are found in .

(1) Arm
(2) Leg
(3) Heart

(4) Alimentary canal

H0w0w) SokTren He 305 grlio

(1) Bow

(2) seev

(3) o
(@) g

133. Find the time period of the wave,
whose frequency is 400 Hz,

400 rbfo FO0P e Doy eidgod

SO Seofitol.
(1) 0.0033 s
(2) 0.0011s
(3) 0.0025 s
(4) 0.0044 s
TET-211/EM-TM

Booklet Code

134. Which of the following friction hag
self adjusting force 7

(1) Fluid friction

(2) Static friction

(3) Sliding friction

(4) Rolling friction

308 TS “o0K0 VB DY’ EORD Houe:
(1) |

(2) 305 g

T PG

e gc

(3) =t Poges
(4)

03

Gt oy

135. The minimum distance from real

object to a real image in a concave
MIrror is ....

RSO Cﬁtbﬂﬁéﬁ SEDRE, I BIHDord
:)JG:S;S e EQ% abilel.]

(1) f
21 2f
(3) f/2
(4) 0

136. We feel warm after finishing our

l;:ath under the shower on a hot day,
1s due to ....

(1) Humidity

(2) Condensation
(3) Evaporation
(4) Freezing

-y

D Feres® s Jus o wbte I
RIVPOWRED SEM0
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The lens which can form real and
virtual images in air, 18 ....

(1) Plano concave

(2) Plano convex
(3)
(4)

B1 concave
B1 convex

. f P
= " . ."'-I v - -".Il. T
S D s0duio 1@».‘;‘5 RWOLCTPOW WU

SeoSa00

(1)

G

Wen DO LIPSO
(2) Hoobo s

(3) Cqa)ed¥St0

(4) O&Soogrsee

Find the length of the conductor
which is moving with a speed of
10m/s In the direction
perpendicular to the directiop qf
magnetic field of induction 6%, 1T
it induces an emf of 6V between the
ends of the conductor.

(1) 0.6m
(2)
(3) 1m

(4) 12 m

0.6T o) 0 @l FoLd

- -5 t"'EJ | = o L
é@'s@bﬁ: DOLON® 10_ o0 /n: Do SERBILN)

6 m

lbn‘&lﬂ_l:_u:'

> —p. oy oyes
s By Ddde Sogg. BY daTyes D0

(BOoHED &5 DI FERW 5508% o0&,

(1) 0.6 2.

(2) 6 .

(37 1 %.
(4) 1.2 5.

Booklet Code

139. The boiling point of Argon is ...

140.

127]

SO ool (U e
(1) - I83>L
(2) -186°C
(3) -196°C
(4) -193°C

Power supply to our home from the
electric pole will be interrupted due
(o formation of the metal oxide
layer on the electric wire. The
metal oxide 1s ...

(1) Electric wire damages.

(2) Electric wire breaks up.

(3)  Works as electrical insulator.
(4) None of these.

-~ F o o - 93 o LT T T 4 S, .:':
SOy POGIC T Wi ?';".;uu'*]..:-."— NoloMhl oLERWTH o s (&
&r:’?.: 'SE‘G:}"*L&E‘ I....E.; ﬂ"‘“f_'_; :r'-::f.?;i

(1) S&od O ;repvocd.

(2) Lc:oge:? &K DAPE008.
(3) o :)5 :JEE;'_}:,“ NS ILIT Lol
(4) D8 o5
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tollowing 1D the

141. Arrang ¢ their pH value.

increasing order O
(a) gastric fluid N
(b) milk of Magnesid
(c) blood
.(d) Jemon juice
108 36t pH Deos 207 S0
(a) Mg E=0 '
(b) &), w2 wh=ed ~)
(c) U=Ze ?
(d) Saolie Q P\B
(1) a,b,d,c
(2) a,d,b,c
(3) a,c,b,d
(4) a,d,c, b
142. In the electro magnetic spectrum,

which of the following rays have

more wavelength, is ....
(1)
(2)
(3)
(4)

ﬁﬁogéod:&boﬁ' 5Eﬁﬂﬁﬁi e_{;ag éﬁﬂﬁaﬁsrﬁ
XOAS ST

(1)
(2)
(3)
(4)

Gamma-rays
IR-rays
X-rays

Radio-waves

oy 30w

X-35emen

AT 3Grpewy

woeoors SUrren ‘

TET.211-EM/TM

144.

[28]

pooklet Code I:E

T number 15

glemen witl ber 31 18 present
and Mass s
i 15 and el jod 4
(1) GrovP g

15 and PeI‘lO
2) GrouP .

5 and P eriod 3
(3) Group

5 and period 4
(4) Group ]

F sebodw (BT =O%
wawm :JC-"::"S 1 s
3] ™ e Sar0S0 SV
6_r
(1) 159 6F0, 4 5s00506
E

(2) 15% i 3% 0o
(3) 5% D, 3‘:.3 5. 0006
(4) 5% (o, 49 500506
We get Silver metal (Ag) in the f’ornilr
of precipitation by _tht-; reaction 0
dicyanoargentate 1ons with this
powder, 1s ....
(1) Aluminium dust
(2) Copper dust
(3) Magnesium dust
(4) Zinc dust
E':";?&J_m‘?__. 53-2‘?.‘5_ LATPOODS S | 5P g&i

SGobed Ag ES'B"J*:’\)J es5ED 5506
PeSoTE.

(1)

SRR B0

(2) oa ::J"gn
(3) :"’ﬁ.}aﬁs@:ﬁ)a wrgo
(4) 208 Sorgo
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Methodology
145. Formative evaluation is done .... 147. This is not a sultable role for a
, e e er.
(1) Before starting the science teach
instruction. (1) Facilitator
¢ ay T4
(2)  During the process of (9) Financer
instruction.
- - (3) Manager
(3) After the completion of the . &
term. (4) Counsellor
(4) Before admission into & 2o, Suns, v &P @l ML G .
course. == |
- - i (1) 20:22e8
‘RTRETEE Loroofiis’ wls tlouls
(1) Soonns Svefeiows Lust: (2) F=aes
(2) &g atoroton $mecd® (3) il
(3)  wb Preoesn oo () J8lct

C rt -5 fm .
(4) Eﬁd.ﬂr'j"u 5 .:J:":""l b bl b

148. When a student stopped using
plastic covers after listening to the

lesson ‘Synthetic f{ibres and
plastics’, the objective achieved

146. Incorrect statement with regards to
Audio-visual aids.

(1) They motivate the students. o
are not accordance with .
(2)  They . , (1) Responding
the principle of concrete to
abstract. (2) Valuing
(3) They speed up learning. (3) Characterisation
(4) They help in presenting which ) Organisation
can not be seen with un-aided
eye. “I <G ZyGLc oo SaEes? JYs
&)eg Ee SPEATREGH0CES Sowoled L0 TOUT 7S @0l s Laliiiay 7o
TSN e0T, FLCYEG TE i
:555‘:}3: I J:J_E"-_-:'LA"" ) ' —
' - : a - ( : ""':._"“‘!i"_-yu
(1) q;} SE“SQBE.J i;-}-a#:r?km- - 1) J.Efuﬂu___-.-u-.m.r
) . P Lo ’LH ]
FPd @eioeoi &aoli). | (3)  Bedwe
w =, 'E T R ""E :-; = =
(3) ﬂ:i Lﬂ'ﬁ_ iJ?W& od eI OTID a.-JnL.Lﬁ..A}.
R 3 . (4) DBl
(4) 2roetes 5ol SREDU Tl DFAEUE e
S iasarons
'ET-211-EM/TM [29]
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149. We can not say exactly that
construction of knowledge taken
place in the situation.

(1)

(2)

(3)

(4)

If the student reported the

concept taught by the teacher,

-either in the class or 1n the

examination, = without any
mistakes.

If the student Invents new
things by applying his
previous experience.

If the student defined the
concepts by discussing in peer
group and with his previous
experience.

If the student applied the
Jearned concepts 1n new
situations.

Ba (300 BoBtund’ i Aoy edACEd
N BOTT DiyTE.

(1)

- (2)

(3)

(4)

&Igrointy  BQoS  DRAIFY
3#5:‘:5%&::: ool Eden  B50@
551885, $H5S° JDBoIIHE>.

Wate JPPTRIGPT) DRATAOD, DTS
DROITRR e820sy, 00U,

3&‘52 RPTERP Yy WGIFAOW,
ﬁ*&ﬂéﬁaaﬁs W0y0w
QBEWOWDR) .

P RON

Dol wggwodd PRI DIEY
SotsTres’ DIBTACISYED.,

Booklet Code

150. Which of the following statement 1S

- # L ‘?
not correct relating to science kits :

(1) These kits act like small
laboratories.

(2) These Kkits are useful 1n
schools where there are no
laboratories.

(3) These kits are designed to
carry anywhere easily.

(4) These kits are designed for
teachers.

e TR oSl Howoded (o8 IS
HOSIY

(1) &2 odFew
HIDF O,

::i::'cl @ﬂﬁﬁ?ﬂ?ﬂ&ﬁ‘
(2) Parmow 82 PoTredt B2 Hedsen
&RCAECT® Gotrow.

(3) AI> wwegor BT 2ol
ST &+ eEIEL0 BFFoBoHEHY.

(4) o oed¥en é%a‘cp‘goﬁ'wﬁn 5§05
BFPODONLGO.
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